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PART - |

| Choose the correct Answer. dx1=4
L The Place value of 3 1n 85 073 i8 —cooomeeee

(@) Tenths (b)  Mundredths (¢) Thousands (@) Thousandths
2 arvo[_Jary

a) = B) <« Q) II> d) =
3 In m‘m-muln. C=2nr, 'r' refers to

a) Circumference b) area c) Rotation d) Radius

4 The ratio of the area of a circle to the area of its semicircle is --—---——-—
(@ 2:1 W E E (o) 1
_— L3 B | [

5

(d) 1:4
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PART -1l ‘
IV. Answer any 3 of the following. 3x2=6
/ =

11 The height of a person is 165cm Express this height in meter. ./ ] Q>en

T (7Y 25 (1) 2
12, Write the following decimal as fraction ()25 (i)004 / [ 1 | /2 °, / £

: | 7/

13 Represent the decimal number on the number line. 1.7 \&)

14 The diameter of a circular well is 4.2m. What is its circumference?
15 Find the area of a circular pathway whose outer radius is 32cm and inner radius is 18cm
22 0&C !
PART - lll A

_ o T T Ix3=9
V. Answer any 3 of the following:

16. Express the following Decimal Numbers in Place Value Grid and Write the place value of the

underlined digit. %MICL’LQ f‘]j o

() 5361 M (i) 9.657 iy 28271

I sending and Descending Order.

0%
»

9m. Find the Maximum area that the

2m wide has to be constructed
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